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:This paper contains FIFTY (50) multiple-choice assertation/reasoning/

matching questions, each question carrying TWOQ (2) marks. Attempt All

the questions.
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1.  Preamble to the Constitution of
India is :

(A)

(B)

(C)

(D)

a part of the Constitution but
can be amended

not a part of the Constitution
and thus cannot be amended

a part of the Constitution and
can be amended subject to the
theory of basic structure

not a part of the Constitution
but can be amended

2. . Which of the following statements
1s correct in view of Article 20(3) of
the Constitution of India ?

(A)

(B)

)

(D)

Law--11

No person shall be compelled
to be a witness against
himself

No person shall be compelled
in any criminal case to be a
witness against himself

No person accused of any
offence shall be compelled to be
a witness against himself

No person shall be compelled
to be a witness against
himself in any civil or criminal
case
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3. Which statement is incorrect ?

(A) The right conferred by Article

(B)

(C)

(D)

32 cannot be suspended except
by virtue of Article 359(1) of
the Constitution

The enforcement of Articles 20

and 21 cannot be suspended

Punishment can be prescribed
by law made by the
appropriate legislature for
offences under Part III of the

Constitution

The Fundamental Rights can
be abrogated by a law made by
Parliament with regard to
members of the forces charged
with the maintenance of public

order

4. The First Amendment to the

Constitution of India took place in

the year :

(A)
(B)
(C)
(D)
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1951
1952
1953
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Right to education was introduced
as Fundamental Right under which
Article of the Constitution of

India ?

(A) Article 17A

(B) Article 19(1)(h)}

(C) Article 21

(D) Article 21A

Power to grant pardon is a :
(A) Legislative power

(B) Judicial power

(C) Quasi-judicial power

(D) Executive power

A State Government pursuing anti-

secular policies is liable to action

under Article 356 of the

Constitution. It was so held in :

(A) Ismail Farooqui Vs. Union of
India

(B) AK. Roy Vs. Union of India

(C) State of Rajasthan Vs. Union
of India

(D) S.R. Bommai Vs, Union of

India

Law-II
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10.

In which one of the following cases

the doctrine of Prospective

Overruling was evolved ?
(A) Minerva Mill's case
(B) S.P. Gupta’s case

(C) Golaknath’s case

(D) Maneka Gandhi’s case

The Natural Law theory implies

that :

(A) State-made Law (Positive Law)
must conform to objective
moral principles

(B) Law as the dictate of State

(C) Law as declared by judges on
the basis of justice, equity and

good conscience

(D) Law as a command of the

sovereign

Under which of the following does
the right ‘to make a will’ fall ?

(A) Liberty
(B) Immunity
(C) Duty

(D) Disability

Law-II
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11. Match List I with List II and select  11. AR T 244 IT uigl qiou Qgl sirud)

the correct answer : AAL FoAll UHE ST !

List I List II YA R 11
(@) Fuller (1) Status to Contract (@) ¥4% (1) 52+ 23w
(b) Bentham (2) Social Solidarity (b) slrum (2) Aulrs sl
(¢) Maine  (3) Inner Morality () b (3) 2idRs Al

(d) Duguit (4) Utilitarianism d) gy (4) Guailidials

(@ b)) (© () @ (B © (@

A 4 3 2 1
A) @) 3) @ O @a @ G @ @

B @ @ @
B) B3 @ @ @ ) :

€ @4 B @O @
< @ @& QO (@

D @ @ @O @
O ) « @1 (@)

{ 12, ydAslu-dl otarsizsdl .......... ol
12. The binding force of precedent is

ge ¢ AL A% Y O
destroyed or weakened by :

(A) disHd
(A) Public opinion

(B) & uddl Ysielutl
(B} Abrogated decisions

©) yd [Al{dwe
{(C) Res Judicata

M (el sl uldal

(D) Lis Pendens

Law-I1 7 [P.T.0.]




13. The possession held by one person 13. s aldd wu1? ollog ula M2 se

through another person is termed q2lddl ¢l Al d ... sdaml
as : wld B,

(A) Immediate possession (A) MH& s51%

(B) Contingent possession B) wdl sa

(C) Mediate possession (C) 2UAE 5019

(D) Concurrent possession (D) uHldz 5613

14. The type of ownership that allows 14, (a5l § ¥4l HuuAdl qdL 24

for the separation of the powers of Guoflal s e g o

management and the rights of . _ .
and ..., sEAlML a6,

enjoyment is called as :
A e
(A) Trust

(B) sa wulasg
(B) Sole Ownership

. () wsHlas
(C) Co-ownership

(D) Equitable ownership D) W~ wlasl
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15. Which of the following statements

represents the true nature of

International Law according to

Jhon Austin ?

(A)

(B)

)

(D)

Law-I1

‘Law’ need not be enacted by

a sovereign authority

International law is nothing
but rules of positive morality
not capable of being enforced

in a court of law

International Conventions
and Treaties represent Inter-

national legislation

Despite the lack of effective
sanctions, executive machinery
and judicial authority, the true
legality of International law

cannot be challenged
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16.

17..

Which of the following constitutes
an essential feature of “Law-making

Treaties” ?

(A) They lay down either universal
or general principles of

International law

(B) They have evidentiary value
only

(C) They do not constitute a direct

source of International law

(D) They are entered into by two
or more states restricted to
specific subject-matter

concerning these states and

exclusively binding on them

‘Opinio Juris et necessitatis’ refers

to the :

(A) Opinion of jurists

(B) Advisory opinion of
International Court of Justice

(C) Conviction on the part of the
states that customary rules are

obligatory and legally binding

(D) Opinion expressed by members

of the General Assembly

Law-I1
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18.

19.

The judges of the International
Court of Justice are to be elected
by the General Assembly and by

Security Council :

(A) Independently

(B} Collectively

(C) Independently but
simultaneously

(D) By two third majority in

General Assembly

Right to peace and development can

be classified as Human Right of :

(A) First generation

(B) Third generation

(C) Second generation

(D) Fourth generation

Law-I1
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20.

21.

22.

The primary responsibility of the

Security Council is :

(A) to call upon members to settle
their disputes by peaceful

means

(B) to admit, suspend and expel

member states

(C)

to maintain International

peace and security
(D) to amend the UN Charter

Indian Christians can obtain
divorce under which of the following

enactments ?

(A) Special Marriage Act, 1954

(B) Christian Marriage Act, 1872

(C) Indian Divorce Act, 1869

(D) Special Marriage Act, 1872

Children of two brothers or two
sisters or a brother and a sister can
validly marry under which of the

following ?

(A) Hindu Law

(B) Muslim Law

(C) Christian Law

(D} Parsi Law

Law-I1
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23. Sagotra marriages under Hindu

Law are :

(A)

(B)

(C)

(D

valid
void and penal

voidable at the option of caste

panchayats

void and parties can be

punished by caste panchayats

24. Under the Hindu Marriage Act,

1955, a marriage may be annulled

if :

(A)

(B)

(D)

Law-II

the consent of the petitioner

was obtained by force or fraud

the consent of the petitioner

" was not obtained

the consent of any party to

marriage was not obtained

the consent of the parents of
the parties to the marriage was

not obtained

13
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25.

26.

If there i1s no restoration of the
conjugalr relations between the
parties within a period of one year
from the date of a decree of

restitution of conjugal rights :

(A) the marriage is automatically

treated as dissolved

(B} either party can claim divorce

(C) only petitioner to the earlier
restitution petition can claim
divorce

(D) only respondent to the earlier
restitution petition can claim
divorce

Which provision of the Hindu

Marriage Act, 1955 provides

grounds of dissolution of marriage

available only the wife :
(A) ‘Section 13(2)

(B) Section 13(1A)

(© Sectioﬁ 13B

(D) Section 13A

Law_II
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27. Which 'statement 1s true ?7

(A)

(B)

(C)

)

Inadequacy of consideration
cannot be takén into account
by the court in determining
whether the consent was given
freely

Contract of.insurance is a
wagering agreement

A person.who is usually of
unsound mind cannot enter
into a contract even when he
18 of sound mind

According to the Indian
Contract Act consideration

must move from the promisee

28. A proposal may be revoked :

(A)

(B)

(C)

D)

Law-IT

at any time after the proposal

made by the proposer

at any time before the
communication of its
acceptance is complete as
against the proposer

cannot be revoked when once
made

at any time after the

communication of acceptance is

complete as against the offeree
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29.

30.

31.

Choose the correct option. Consent

is said to be ‘free’ when -
(A) it is caused by fraud
(B) it is obtained

misrepresentation

under
(C) it is obtained by or under
coercion

(D) mistake of fact is not caused by
one of the parties

‘A’ sold his horse to ‘B’ on the terms
that if the horse runs at 18 miles
per hour for a month, the price was
to be Rs. 200; if not, it was to be
Rs. 10. The contract is :

(A)
(B) voidable
(C) illegal

(D) wvoid

valid

Arrange the following concepts in
the sequence in which they appear

in a contract, using the code :
)
(iz)
(1)
()
(A)
(B)
(G
(D)

Communication of acceptance
Invitation to offer

Damages

Deceit

(£}, (iip), (D), (v)

(i), (@), (1), (Gv)

(tv), (iii), (i), (D)

(i0), (@), (fv), (¢ii)

Law-I1

29.

30.

31.

16

Y10y, [Asey wie 53 : A4 A Hsd
A A sl wUlR d

(A) esasvedl Anddl ey

(B) Ayl Anddl sy

(C) eyds Anadl iy

AaHidl 515 vis uastd eflsa-dl
od 53¢ sy

‘A’ % B’ A Uidl-it HISL Y1 214 A4l
% o ©iSL salsl 18 HISerl »sU s
wleAl ¥ell sisd di disiHl Bud 3t

200 Ug A A WHIEL [ €S dl Bud
3l. 10 duuaiddl. 2 s

A) uud 8

(B) cudly &
(C) AU O
(D) e &

3 adel sis-l Gudial 531 At
Aot sARAL QR dasst wud
ssdl :

(i)  MHcldd ddle

() Ml Hled, (R

(i) 15Ul andl

(iv) Balst

(A) (), (i), (D), Gv)

(B) D), (0, (), (o)

(C) (iv), (L), (D), (i) -

(D) G, (&), Gu), Git)

()




32.

33.

34.

‘Novation of a contract’” means :
(A) Renewal of original contract

{B) Substitution of a new contract

in the place of original contract
(C) Cancellation of the contract
(D) Alteration of the contract

Which one of the following is not
an essential constituent of the

tort ?

(A) Wrongful act or omission
(B) Damage

(C) Legal injury

(D) Legal remedy

Motive or state of mind of tort-feasor

is irrelevant in the torts of :

(A) defamafion and conspiracy
(B} trespass and negligence
false

(C) conspiracy and

imprisonment

(D) malicious prosecution and

nuisance

Law-II
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30.

36.

37.

Volenti non fit injuria is a complete

defence, while contributory

negligence :
{A) 1s also a complete defence

(B) partial defence and plaintiffs

claim is reduced to that extent
(C) is not a defence at all

(D) is recognised by court as a
defence in exceptional cases

only

The defence of inevitable accident

is available when :
(A) the event is unforseeable
(B) the event is forseeable

(C) the consequences are avoidable

by taking precautions
(D) there is no negligence

“He who acts through another is
deemed in law as doing it himself”
is well explained by which of the

following maxims ?

(A) Ubi jus ibi remedium

{B) Qui facit per alium facit per se
(C) Salus populi lex

(D) Jus terta

Law-I11
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38.

39.

Plaintiff slipped into a pit filled with
rain water. While slipping he
caught hold of a necarby electricity
pole to avert the fall. Due to leakage
of electricity in the pole, he was

electrocuted. Can Electricity Board
be held liable ?

(A) No, Electricity Board has no
knowledge of leakage of
electricity in the pole

(B) Yes, it 1s the duty of Electricity
Board to take care that there
is no leakage of electricity in
the pole

(C) No, Plaintiff caught hold of the
pole on a rainy day

(D) Yes, Electricity Board should
take care that there is no pit
near the electric pole

Who among these cannot be held

criminally liable ?

(A) A child between 7 and 13 years
of age

(B) A firm

(C) A company

(1) A child of 10 years of age who
has not attained sufficient
maturity of understanding to
judge the nature and

consequences of his act

Law-11
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40. An insane person is exempted from

41.

42.

eriminal liability, because :
(A) he is incompetent to contract
(B) lack of mens rea

(C) crimes are committed out of
1mpulse
(D) The act done by him is treated

as act not done at all

Right to private defence of property

is available against which

offence ?

(A) Cheating

(B) Misappropriation

(C) Theft and Robbery

(D) Criminal breach of trust

Section 34 of IPC :

(A) 1s a rule of evidence only

(B) is a substantive offence

(C} is a constructive criminal
liability

(D) is a combination of rule of
evidence and constructive

liability

Law-II
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43.

44.

45.

Several intercourse with a girl

through fraudulent consent

amounts to :

(A) simple physical assault
(B) molestation

(C) attempt to rape

(D) rape \

K. M. Nanavati case was related to

which offence under IPC ?

{A) Murder

(B) Robbery

(C)} Grave and Sudden provocation
(D) Rape

Which of the following is not true

in relation to Lock-out ?

(A) Closing of a place of

employment
(B) Closing of the business
(C) Suspension of work

(D) Closing the place of business

Law-II
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46.

47.

48.

Under the Industrial Disputes Act
1947, illegality of a strike is a matter

within the jurisdiction of :

(A) Labour Court

(B) Industrial Tribunal

(C) Labour Court or Industrial

Tribunatl
(D) Industrial Court

‘Unfair Labour Practices’ are
specified in......................... Schedule of
the Industrial Dispute Act, 1947,

(A) First

(B) Second

(C) Fourth

(D) Fifth

Which of the following statements

1s not correct ?

(A) In Lock-out,

employment is permanently

a place of

closed

(B) Lay-off is not concerned with
labour disputes

{C) Closure is generally for trade
reasons

(D) In strike, there shall be
cessation of work or refusal to

work

Law-II
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49.

20.

In Bangalore Water Supply Vs. A.
Rajappa (AIR 1978 SC 548), the
Supreme Court reiterated the test

laid down in :

(A) State of Bombay Vs. Bombay
Hospital Mazdoor Sahba AIR

1960 SC 610

(B) D.N. Banerjee Vs. Mukherjee

AIR 1953 SC 58

(C) Baroda Borough Municipality
Vs. Its Workmen AIR 1957 SC

110

() Nagpur Corporation Vs. Its

Employees AIR 1960 SC 675

Right to form a Trade Union is

a/an ;

(A) Fundamental Right
(B) Legal Right

(C) Equitable Right

(D) No Right
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